
DOS	
  TRANSISTORES	
  BJT	
  

1.-­AMPLIFICADOR	
  CON	
  TRANSISTOR	
  NPN	
  EN	
  CONFIGURACIÓN	
  
BASE	
  COMÚN	
  CON	
  POLARIZACIÓN	
  DE	
  DOBLE	
  FUENTE.	
  
	
  	
  Para	
  el	
  amplificador	
  Base	
  Común	
  determine	
   la	
  ganancia	
  de	
  voltaje,	
   la	
  
resistencia	
   de	
   entrada	
   y	
   la	
   resistencia	
   de	
   salida.	
   Considere	
  β	
   =	
   100	
   y	
  
VBE=	
  0,7V.	
  
	
  



*	
  Polarización	
  
En	
  el	
  circuito	
  Base	
  Emisor	
  

	
  
	
  
	
  
	
  
	
  

En	
  el	
  circuito	
  Emisor	
  Colector	
  



*	
  Parámetros	
  para	
  el	
  modelo	
  de	
  pequeña	
  señal	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  



*	
  	
  Circuito	
  de	
  pequeña	
  señal	
  

	
  
Aplicando	
  traslación	
  de	
  fuentes	
  



Circuitos	
  equivalentes	
  
	
  

	
  



Nuevo	
  circuito	
  equivalente	
  y	
  cálculo	
  de	
  la	
  ganancia	
  Av=	
  vo/vbe	
  
	
  

	
  



*	
  Ganancia	
  de	
  voltaje	
  



*	
  Cálculo	
  de	
  resistencia	
  de	
  entrada	
  y	
  de	
  salida	
  
	
  

	
  



*	
  Ganancia	
  desde	
  la	
  fuente	
  de	
  entrada	
  



2.-­AMPLIFICADOR	
  CON	
  TRANSISTOR	
  PNP	
  EN	
  CONFIGURACIÓN	
  
COLECTOR	
  COMÚN	
  CON	
  POLARIZACIÓN	
  CON	
  FUENTE	
  SIMPLE.	
  

	
  
Para	
  el	
  amplificador	
  Colector	
  Común	
  determine	
  la	
  ganancia	
  de	
  voltaje,	
  
la	
  resistencia	
  de	
  entrada	
  y	
  la	
  resistencia	
  de	
  salida.	
  Considere	
  β	
  =	
  100	
  y	
  
VEB	
  =	
  0,7V	
  

	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  

	
  



*	
  Circuito	
  de	
  polarización	
  

	
  

	
  

	
  
	
  

	
  
	
  



*	
  Punto	
  de	
  operación	
  

*	
  Parámetros	
  para	
  el	
  modelo	
  de	
  pequeña	
  señal	
  
	
  

	
  
	
  



*	
  Modelo	
  de	
  pequeña	
  señal	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  

Circuito	
  con	
  traslación	
  de	
  fuentes	
  



*	
  Circuito	
  equivalente	
  a	
  la	
  entrada	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  

*	
  Ganancia	
  de	
  voltaje	
  
	
  

	
  



*	
  Resistencias	
  de	
  entrada	
  y	
  de	
  salida	
  
	
  
Resistencia	
  de	
  entrada	
  
Ri	
  =	
  12,75kΩ//(1,43kΩ+50,5kΩ)	
  =	
  10,24kΩ	
  
	
  
Resistencia	
  de	
  salida	
  	
  	
  
Al	
  sustituir	
   la	
   fuente	
  de	
  entrada	
  (independiente)	
  por	
  un	
  corto-­‐circuito	
  
resulta:	
  
Ro=	
  4kΩ	
  
	
  
	
  


